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Esercizio 2.2
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Esercizio 4.1
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Esercizio 4.2
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Esercizio 4.3
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Esercizio 4.4

6A
’
Y 15A |
4A
0A
15A

A. Morandi, Universita di Bologna - Elettrotecnica T-A

6A



Esercizio 4.5
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ramo 1 2 3 4 5 6
i[A] -500 -274 -109 -118 -094 -133
v[V] 821 -821 -181 -235 -187 -1.33
p,[W] -4105 2246 197 277 175 176

A. Morandi, Universita di Bologna - Elettrotecnica T-A

I,—i,-1,=0
I,+i,+i,=0
Ig+i,+i,=0

lg—i, —1,—1,=0
v,+Vv,=0
V,+Vv,—-Vv,=0

V, -V, +V, =0
V,+V, -V, -V, +V,=0

7 8
2.26 0.15
4.53 0.54

10.25 0.08

9
-Ri,+v,=0
-Ri,+v,=0
-R,i,+v,=0
-Ri,+v,=0
-Ri,+v,=0
-Ri,+v,=0
—ki,—v,=0

7



Esercizio 4.6
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Esercizio 4.7
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Esercizio 5.6
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Esercizio 5.8

63 3

A. Morandi, Universita di Bologna - Elettrotecnica T-A



